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Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

wero fa epPTRe Ted o

(a) Is production a basic economic activity?
TeAm @y o1 Sefeefes e e 2

(b) What is capital accumulation?
Te o= 2

(c¢) Define net domestic product.
7 Y] TeAMR ARl A |

(d) What is aggregate demand function?
g5 ot o 12
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(e)

(2)

Did Keynes support the classical theory
of employment?

(@35 s AR ©Geol e FRReTCeT 2

(/ Mention one limitation of Keynesian
consumption function.
(P01 CS19 FoE o1 AT Sead F41 |
(g9 Can marginal propensity to consume be
greater than one?
2P (191 2RI GFSLF CIET ' A 2
(h) What is average propensity to consume?
T CoI5] 2AqT] 6 2
(i) What is investment?
fRfeicamst 2
() Define marginal efficiency of investment.
ffercanem anfes rfrweR 7 fial |
2. Answer the following questions : 2x5=10
O 2PTgEd Ted B
(a) Distinguish between GDP and GNP.

(b)

(c)
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GDP SI€ GNP F %@ 212 f7efa 31 |

Mention two methods of measuring
national income.

B B ST 751 7S SCEd 4 |

Define aggregate supply function and
draw the aggregate supply curve.

TG @O For k@ fal S TGS e
41 SR 41

( Continued )

(3)

(d) Mention the technical attributes of
consumption function.

(191 FEE Al ST Ty 0 |

(e) What is super-multiplier?
HOBE 5 2

3. Answer any four from the following

questions :

were fWal 2PPTYRd o[l [ Gl BRI ey fors

(a) Explain the circular flow of income in a
two-sector economy.
Y8y HAS Y47 SIRF GEH 2R 0 41 |

(b) Explain the relationship between
national income and welfare.
B S AE R TG T2 77 9 |

(c) Explain the main point of difference
between the classical theory and the
Keynesian theory of employment.
R RFPe 99 I @F0R 999 WET
I 24T PR =0 41 |

(d) What factors affect the consumption
function? Explain.
& & IR ol FEme deEIES w6 2 A
40|

(e) What are the determinants of marginal
efficiency of capital? Explain.
e Nfed FrrreR My & &2
4l |
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(4)

() Explain the factors affecting the volume
of investment.

RfFceR R derfde = FRFHR D
41

4. Answer any four of the following questions :
10x4=40

o 2R R el DI Ted o

(a) Discuss the basic economic activities.
e Slfo® PRITIR SACIHT 41 |

(b) Discuss the components of national
income.
ABR SRS TAPTIZ, SCEAT <51 |

(c) Discuss the Keynesian model of income
determination.

@204 TR ReR =31 Sieers <41 |

(d What is Keynesian consumption
function? Discuss.

2R (O T % 2 ST <647 |

(e) Discuss critically the concept of
multiplier.

QT HIFEIICH] AT A2 SIS 341 |

() Discuss the accelerator theory.
TIFA ©GLO! SAICEOA] A |
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